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and the SmEQ, oms serve 10 customers i w BSﬁom >wﬁ§5m wOamoz arrival rate-and

(b) ><Qmmm 95&@ oH osmﬁogﬁ s inthe
?v ><mem 980 a ozﬁo 52 %S% in :

; OR o !
,“
‘There are seven mosﬁ:mm in a ?ouaﬁ &5 Eo Sso omsamﬁm 8@ as mo:o&wﬁ ﬁ ?,m M&w

Hdetivities:

A

[
=

B
<
D
E
F
G

i

The Norwo& om activities &o

1o Activities A and B §tart at the gm:ﬁEm c_ Eo Eo_os

2. When A is.comp leted C and D startl:

3. E can start when B and D are finis hed,

4. F can start when B, € and D ate ooBEﬁoa and is the final activity,
5.G can start when F is finished and is the final activity.

(a) What is the expected time of the aﬁm:g of the project?

?v 25.& is 90 ?ogg ty. 52 Eemﬁ s:: @o SSEQOQ in mm é@owvo

: 4\?; are mmmﬁswsos in %m mo:ﬁ&mcow om HLESH anomNmBBHbm Problem? Also give
limitations ow Tinear ?omSBBSm ;

OR

A company has mﬁw jobs V, W X YandZ msg m<o Baogwmm > B, C, D and E- The

given matrix mgém thereturn in Rs. of assigning a job 6 a Bmogsa Assign the jobs to

8»0558 S0 as 8 Bmxéﬁm Em SSM ?EBP
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